JIOFYRSYTIZEBTFANRET FYDEEH (555)

0|
punl

2000
1500
1000

500

400
300
200

100

kol
‘mm

2000

1500

1000

500

=S 16
—e— F4E(F26~55)

T78l

8 9
123456123456123456123456

R/#4
NRAEVIRY(FRIRTTFYARY]

—o— &i706%
—e— TLE(T26~H5)

T78

“|REEE T8 A HAF A~

108 FE6E A KA

o N

8 9 10 1
12345612345612345612345°6
A/%4)
NAEVIAY(FEHMSET Y]

= GG
—e— T F(F26~45)

IR E4FLARA

7740

4 5 6 7 8 9 10 11
123456123456123456123456123456123456123456123456
A/%4
NAEVARY (RAFH(REHE]

1400

1200

1000

800

600

400

200

—— s gt
[| —e— FE(F26~55) A

6 7 8 9 10 1
12345612345612345612345612345612345612345
A/%4)
NRAEVIRY(BEH=UIDV])

L]
8000

7000
6000
5000
4000
3000
2000
1000

g
3]

2000

TH6E (2024%)

—o—ST6%E
—e— FLE(F26~45)

77l

LA

\
L\

8 9 10 1
123456123456123456123456
A/#4)
NREVARY(HEHTFvAYD)

L]

1500

1000

=0 16
—— L (F2~45)

T74l

| srommn o | / \\

500

4000
3500
3000
2500
2000
1500
1000

500

9000
8000
7000
6000
5000
4000
3000
2000
1000

0 O

BHMBRRRN

vey 3

8 9 10 1

123456123456123456123456
B/#4)

NREVARY(EEHTF+AYQ)]

—o— a7 T7RI

—o— FHE(F2~%55)

SHEENSHENS |

8 9 10 11
123456123456123456123456
R/#4)
NREVALY(ARTFYAYEQ)]

274

[ ==
—o— FLE(F26~H5)

23456123456123456123456
R/¥4
NREVALI (BT NIY A1)

AERIS



